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(1) 24+6-+3= (2) 5+8-+4= (3) 6+12+-3=
(4) 8+15+5= (5) 7+18+2= (6) 8+21+-3=
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(1) 3+14-- =10 (2) 5+30—+ =11
(3) 2+16-+ =10 (4) 4+32-- =12
(5) 5+20- =10 (6) 6+24- =14
(7) 9—21-+ =2 (8) 8—28—+ =1

(9) 8—40-+ =0 (1) 9—32~+ =1

©#FIZ%ch @ misonya.com



KBEE BRI | HUEG-3 |[esr8 109

=
3 2 2E 2107 30 & 40 =

MeE32 FOQOJ DU AET. < UJEL'ZI'\'ZLFVQE?
RE 15 ":’It’\T-tE\‘s (@] IXAZ2? ] 'D'ZF-EIT"L\&‘:‘
< 150#H) +3(KWBLTENRZADEH) =5 (KWEL %)
(@] 1T OGO, OHFT1I2REAL, EXIZFT521 2k,

N B 0T

EI# P RBh

O Ocer BrETUTIHARTUL

C000000000000 -

FA &

(1) 20EEIE.AHIPE. E2B? (104 A

0%

EA & A &

(2) 1EBDPS30FBHETIC.HIXAIZHB? (104

2 B A

O 1£07—7% BADALEEDF— TIPS IFELE.
DYLAE2CMT. 7 —7&DHEARBTE. 38cmTL.

(1) IR IBEDT—T . FlecmTT D [10s]

2 B R

2) YR FT—TIE. flecmTTH [10x]

2 R

©&FIZ®»ch @ misonya.com




S | EMRL

|[pspg 15 %

HUE®-4
R
= Tl U745 R] 54 R

Qe FHUSE] (L. M=LE I TUSE ) UL, EInEE.
=Eof2rkh, N'3+15+-3=3+(15+3)=3+5=8]

Law ~x & o7t

BH X7xBh

oF FTuA

€ :tEELES e
(1) 54+25+5=
(4) 7—35+7=
(7) 7T+48+6=

(1) 9—54-+-9=

O | Vv BHENZS tmea

(1) 6+18—+
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(1) 30+-6+7= (2) 42+7—3= (3) 7+27+3=
(4) 8—49+7= (5) 8+32+4= (6) 9—48=+6=
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